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int number_of_students=5

> %

int scorel, score2, score3, score4, score5;
double sum, average
> GEE
scanf("%d%d%d%d%d", &scorel, &score2, &score3
> 4

sum = scorel + score2 + score3 + score4 + score5
> giE

average = sum / number_of_students
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prlntf("l =2 % 5 %f\n", average);
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|nt.i number_of_students=5
int score;
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double sum=0., average, sumsq=0., variance
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&score4, &scoreb);
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int i, number_of_students=5
int score;

double sum=0., average
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for (i=0; i<number_of_students; i++)
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scanf("%d", &score);

sum = sum + score

average = sum / number_of_students
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printf("- i’m\- % %f\n", average);
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for (i=0; i<number_of_students; i++)
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scanf("°/od';, &score);
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sumsq += (score-average)*(score-average);

variance = sumsq / (number_of_students-1);
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int i, number_of_students=5, score

FILE *infile;

double sum=0., average, sumsq=0., variance
infile = fopen("data.txt","r");
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rewmd(lnﬁle), [¥ & 3rfaw g R A ¥/
for (i=0; i<number_of_students; i++) { /*
fscahf(infile, "%d", &score);

}
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B */
sumsq += (score-average)*(score-average);
fclose(infile);

variance = sumsq / (number_of_students-1);
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scanf("%d", &score[r];;
sum += scorel[i];
) n-1
average = sum / number_of_students;
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for (i=0; i<number_of_students; i++)
sumsq += (score[i]-average)*(score[i]-average);
variance = sumsq / (number_of_students-1);
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double x[8];
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double x[8];
—REE 8 EEH
x[0] x[1] x[2] x[3] x[4] x[5] x[6] x[7]
Array X
116.0/12.0| 6.0 | 8.0 | 2.5 [12.0]14.0 | -545|
Statement Explanation
printf("%.1f", x[0]); Displays the value of x[0], which is 16.0
x[3] = 25.0; Stores the value 25.0 in x[3]

sum = x[0] + x[1];

Stores the sum of x[0] and x[1], which
is 28.0 in the variable sum

sum += x[2];

Adds x[2] to sum. The new sum is 34.0

x[3] += 1.0;

Add 1.0 to x[3]. The new x[3] is 26.0

x[2] = x[0] + x[1];

Stores the sum of x[0] and x[1] in x[2].
The new x[2] is 28.0
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element-type array_name[size];
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#define A_SIZE 5
double a[A_SIZE];

> Example: (‘5] 2 % 1 2 A= 4 1v)
char vowels[] = {'A’, 'E', 'T', '0", 'U'};
&

char vowels[5] = {'A', 'E', 'T', 'O', 'U'};
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